VC24-08-04 "Concrete Street Repairs"

	Overland Drive - Sterchi Drive to	JBI Construction		River Town Construction		Blankenberger Bros.			
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	42	\$66.25	\$2,782.50	\$50.00	\$2,100.00	\$60.00	\$2,520.00
4	Concrete Patch	CYS	23	\$316.00	\$7,268.00	\$356.00	\$8,188.00	\$470.00	\$10,810.00
5	Geogrid	SYD	115	\$2.50	\$287.50	\$2.00	\$230.00	\$2.80	\$322.00
6	Joint and Crack Sealing	LFT	4,388	\$0.70	\$3,071.60	\$1.00	\$4,388.00	\$1.00	\$4,388.00
7	Concrete Curbs	LFT	11	\$50.00	\$550.00	\$38.00	\$418.00	\$47.00	\$517.00
8	Sidewalk Replacement	LFT	8	\$55.00	\$440.00	\$48.00	\$384.00	\$80.00	\$640.00
9	Curb Ramp	EACH	2	\$2,400.00	\$4,800.00	\$1,900.00	\$3,800.00	\$2,000.00	\$4,000.00
				SUBTOTAL:	\$21,065.20	SUBTOTAL:	\$22,508.00	SUBTOTAL:	\$25,117.00
Cle	ar Creek Drive - Mt. Pleasant Roa	d to Imperi	al Drive						
ltem No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$5,500.00	\$5,500.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	403	\$66.25	\$26,698.75	\$50.00	\$20,150.00	\$54.00	\$21,762.00
4	Concrete Patch	CYS	204	\$316.00	\$64,464.00	\$356.00	\$72,624.00	\$450.00	\$91,800.00
5	Geogrid	SYD	1,020	\$2.50	\$2,550.00	\$2.00	\$2,040.00	\$2.80	\$2,856.00
6	Joint and Crack Sealing	LFT	13,515	\$0.70	\$9,460.50	\$1.00	\$13,515.00	\$1.00	\$13,515.00
7	Concrete Curbs	LFT	11	\$50.00	\$550.00	\$41.00	\$451.00	\$47.00	\$517.00
8	Sidewalk Replacement	LFT	64	\$55.00	\$3,520.00	\$34.00	\$2,176.00	\$68.00	\$4,352.00
9	Curb Ramp	EACH	11	\$2,400.00	\$26,400.00	\$1,900.00	\$20,900.00	\$2,000.00	\$22,000.00
				SUBTOTAL:	\$135,508.85	SUBTOTAL:	\$134,856.00	SUBTOTAL:	\$162,722.00
	Merimac Drive - Southport Drive	e to Dead E	ind						
ltem No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$2,950.00	\$2,950.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	192	\$66.25	\$12,720.00	\$50.00	\$9,600.00	\$54.00	\$10,368.00
4	Concrete Patch	CYS	97	\$316.00	\$30,652.00	\$356.00	\$34,532.00	\$450.00	\$43,650.00
5	Geogrid	SYD	487	\$2.50	\$1,217.50	\$2.00	\$974.00	\$2.80	\$1,363.60
6	Joint and Crack Sealing	LFT	3,575	\$0.70	\$2,502.50	\$1.00	\$3,575.00	\$1.00	\$3,575.00
7	Concrete Curb	LFT	22	\$50.00	\$1,100.00	\$41.00	\$902.00	\$47.00	\$1,034.00
8	Sidewalk Replacement	LFT	20	\$55.00	\$1,100.00	\$34.00	\$680.00	\$68.00	\$1,360.00
				SUBTOTAL:	\$51,157.60	SUBTOTAL:	\$53,263.00	SUBTOTAL:	\$64,720.60
	Conti Drive - Clear Creek Dr. to	Southport	Dr.						
ltem No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$5,500.00	\$5,500.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	444	\$66.25	\$29,415.00	\$50.00	\$22,200.00	\$54.00	\$23,976.00
4	Concrete Patch	CYS	223	\$316.00	\$70,468.00	\$356.00	\$79,388.00	\$450.00	\$100,350.00
5	Geogrid	SYD	1,122	\$2.50	\$2,805.00	\$2.00	\$2,244.00	\$2.80	\$3,141.60
6	Joint and Crack Sealing	LFT	7,103	\$0.70	\$4,972.10	\$1.00	\$7,103.00	\$1.00	\$7,103.00
7	Concrete Curbs	LFT	12	\$50.00	\$600.00	\$41.00	\$492.00	\$47.00	\$564.00
			10	*550 0	¢550.00	\$34.00	¢240.00	\$68.00	\$680.00
8	Sidewalk Replacement	LFT	10	\$55.00	\$550.00	\$34.00	\$340.00	\$00.00	4000.00

VC24-08-04 "Concrete Street Repairs"

			VC24	08-04 "Concret	e Street Repa	rs"			
	Sterchi Drive - Clear Creek Dr. to	Southport	Dr.						
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	165	\$66.25	\$10,931.25	\$50.00	\$8,250.00	\$54.00	\$8,910.00
4	Concrete Patch	CYS	84	\$316.00	\$26,544.00	\$356.00	\$29,904.00	\$450.00	\$37,800.00
5	Geogrid	SYD	419	\$2.50	\$1,047.50	\$2.00	\$838.00	\$2.80	\$1,173.20
6	Joint and Crack Sealing	LFT	5,314	\$0.70	\$3,719.80	\$1.00	\$5,314.00	\$1.00	\$5,314.00
7	Concrete Curbs	LFT	20	\$50.00	\$1,000.00	\$41.00	\$820.00	\$47.00	\$940.00
8	Sidewalk Replacement	LFT	44	\$55.00	\$2,420.00	\$34.00	\$1,496.00	\$68.00	\$2,992.00
9	Curb Ramp	EACH	4	\$2,400.00	\$9,600.00	\$1,900.00	\$7,600.00	\$2,000.00	\$8,000.00
				SUBTOTAL:	\$57,128.15	SUBTOTAL:	\$57,222.00	SUBTOTAL:	\$67,649.20
	Turner Drive - Sterchi Drive to I	mperial Dri	ive						
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$800.00	\$800.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	21	\$66.25	\$1,391.25	\$50.00	\$1,050.00	\$54.00	\$1,134.00
4	Concrete Patch	CYS	10	\$316.00	\$3,160.00	\$356.00	\$3,560.00	\$490.00	\$4,900.00
5	Geogrid	SYD	54	\$2.50	\$135.00	\$2.00	\$108.00	\$2.80	\$151.20
6	Joint and Crack Sealing	LFT	4,388	\$0.70	\$3,071.60	\$1.00	\$4,388.00	\$1.00	\$4,388.00
7	Concrete Curbs	LFT	11	\$50.00	\$550.00	\$41.00	\$451.00	\$47.00	\$517.00
8	Sidewalk Replacement	LFT	8	\$55.00	\$440.00	\$34.00	\$272.00	\$80.00	\$640.00
9	Curb Ramp	EACH	1	\$2,400.00	\$2,400.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00
				SUBTOTAL:	\$13,013.45	SUBTOTAL:	\$14,729.00	SUBTOTAL:	\$14,950.20
La	ncelot Drive - Clear Creek Drive t	o Southpor	rt Drive						
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$800.00	\$800.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate	TONS	17	\$66.25	\$1,126.25	\$50.00	\$850.00	\$54.00	\$918.00
4	Concrete Patch	CYS	9	\$316.00	\$2,844.00	\$356.00	\$3,204.00	\$540.00	\$4,860.00
5	Geogrid	SYD	44	\$2.50	\$110.00	\$2.00	\$88.00	\$2.80	\$123.20
6	Joint and Crack Sealing	LFT	150	\$0.70	\$105.00	\$1.00	\$150.00	\$1.00	\$150.00
7	Sidewalk Replacement	LFT	8	\$55.00	\$440.00	\$34.00	\$272.00	\$80.00	\$640.00
				SUBTOTAL:	\$6,490.85	SUBTOTAL:	\$7,564.00	SUBTOTAL:	\$7,911.20
	Copperfield Drive (Petersburg	g Place Sub	p)						
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$5,500.00	\$5,500.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	581	\$66.25	\$38,491.25	\$50.00	\$29,050.00	\$54.00	\$31,374.00
4	Concrete Patch	CYS	294	\$316.00	\$92,904.00	\$356.00	\$104,664.00	\$455.00	\$133,770.00
5	Geogrid	SYD	1,760	\$2.50	\$4,400.00	\$2.00	\$3,520.00	\$2.80	\$4,928.00
6	Joint and Crack Sealing	LFT	7,746	\$0.70	\$5,422.20	\$1.00	\$7,746.00	\$1.00	\$7,746.00
7	Concrete Curb	LFT	297	\$50.00	\$14,850.00	\$41.00	\$12,177.00	\$60.00	\$17,820.00
8	Popup Valves	EACH	4	\$225.00	\$900.00	\$175.00	\$700.00	\$160.00	\$640.00

VC24-08-04 "Concrete Street Repairs"

Normal field Drive - St. Calib Drive to Bob Court Drive Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$475.00 \$475.00 \$2500.00 \$2500.00 \$420.00					08-04 "Concret	e Street Repa				
1 Maximanane of Traffic LSUM 1 S1,390.80 S1,390.80 S2,200.00 S2,600.00 S2,600.00 S2,600.00 S2,600.00 S2,600.00 S2,000.00 S3,000.00 S2,000.00 S2,000.00 S2,000.00 S2,000.00 S2,000.00 S2,000.	N	lorthfield Drive - St. Clair Drive to	Bob Court	Drive						
2 Maintenance of Traffic LSUM 1 S475.00 S475.00 S500.00 S500.00 S420.00 S420.00 3 Compacted Agregates No. 53 TONS 61 S662.5 S4.041.25 S50.00 S306.00 S420.00 S32.40 S31.020.00 4 Concrete Patch GYD S14 S25.00 S25.00 S326.00 S11.035.00 S420.00 S20.00 S20.00 S17.500 S12.000 S12.000 <td>Item No.</td> <td>Description</td> <td>Unit</td> <td>Quantity</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td>	Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
3 Compacted Aggregate No. 53 TONS 61 366.25 \$4.04.125 S50.00 \$3.05.00 <	1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$1,600.00	\$1,600.00
4 Contrave Patch CYS 31 S316.00 S376.00 S356.00 S11,026.00 S420.00 S13,020.00 5 Geogrid SYD 144 S2.50 S460.00 S2.00 S386.00 S2.80 S7.746.00 6 Joint and Crack Sealing LFT 7,746 S0.70 S5.422.00 S11.00 S7.746.00 S10.00 S1.00.00 S10.00 S2.00.00 S2.00.00 <td>2</td> <td>Maintenance of Traffic</td> <td>LSUM</td> <td>1</td> <td>\$475.00</td> <td>\$475.00</td> <td>\$500.00</td> <td>\$500.00</td> <td>\$420.00</td> <td>\$420.00</td>	2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
S Geogrid SYD 184 S2.50 3460.00 S2.00 S368.00 S2.80 S17.46 6 Joint and Crack Sealing LFT 7.746 S0.70 S4.422.00 S1.00 S7.746.00 S1.00 S1.00.00 S2.00.00 S2	3	Compacted Aggregate No. 53	TONS	61	\$66.25	\$4,041.25	\$50.00	\$3,050.00	\$54.00	\$3,294.00
B Junit and Crack Sealing LFT 7,746 S0,70 S6,422,20 S1,00 S7,746,00 S1,700	4	Concrete Patch	CYS	31	\$316.00	\$9,796.00	\$356.00	\$11,036.00	\$420.00	\$13,020.00
7 Concrete Curb LFT 85 \$50.00 \$4,250.00 \$51.00 \$51.50.00 \$517.50.00 \$517.50.00 \$5160.00 \$50.00.00 8 Popup Valves Description Unit Cuantity Unit Price Extended Unit Price	5	Geogrid	SYD	184	\$2.50	\$460.00	\$2.00	\$368.00	\$2.80	\$515.20
8 Popup Valves EACH 1 S225.00 SUBTOTAL: S285.00 SUBTOTAL: S175.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S160.00 SUBTOTAL: S180.00 S28.660.00 Immos. Description Unit Quantity Unit Price Extended S2.200.00 S42.00.0 S42.00.0 S42.00.0 S42.00.0 S42.00.0 S40.00 S40.00 S40.00 S40.00 S40.00.0 S40.00.0 S40.00.0 S40.00 S40.00 S40.00.0 S40.00.0 <t< td=""><td>6</td><td>Joint and Crack Sealing</td><td>LFT</td><td>7,746</td><td>\$0.70</td><td>\$5,422.20</td><td>\$1.00</td><td>\$7,746.00</td><td>\$1.00</td><td>\$7,746.00</td></t<>	6	Joint and Crack Sealing	LFT	7,746	\$0.70	\$5,422.20	\$1.00	\$7,746.00	\$1.00	\$7,746.00
No. SUBTOTAL: S26,060.05 SUBTOTAL: S28,060.00 SUBTOTAL: S28,060.00 SUBTOTAL: S28,060.00 Imm No. Description Unit Quantity Unit Price Extended Unit Price Extended Unit Price Extended Unit Price Extended S2,000.00 S4,000 S4,000.0 S4,000.0 S4,000.0 S4,000.0 S4,000.0 S4,000.00	7	Concrete Curb	LFT	85	\$50.00	\$4,250.00	\$41.00	\$3,485.00	\$47.00	\$3,995.00
Lancaster Court - Southport Drive to Dead End Unit Price Extended Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$1,30,00 \$1,39,00 \$2,500,00 \$2,200,00 \$420,00 <	8	Popup Valves	EACH	1	\$225.00	\$225.00	\$175.00	\$175.00	\$160.00	\$160.00
Item No. Description Unit Quantity Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,390.60 \$2,500.00 \$2,500.00 \$2,200.00 \$2,400.00 \$56.00 \$2,314.00 \$2,407.00 \$2,000.00 \$2,407.00 \$2,000.00 <th></th> <th></th> <th></th> <th></th> <th>SUBTOTAL:</th> <th>\$26,060.05</th> <th>SUBTOTAL:</th> <th>\$28,860.00</th> <th>SUBTOTAL:</th> <th>\$30,750.20</th>					SUBTOTAL:	\$26,060.05	SUBTOTAL:	\$28,860.00	SUBTOTAL:	\$30,750.20
1 Mobilization and Demobilization LSUM 1 \$1,390,60 \$1,390,60 \$2,500,00 \$2,200,00 \$2,000,00 \$1,00 \$2,000,00 \$41,00 \$41,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,000,00 \$2,200,00 \$2,200,00 \$2,200,00 \$2,200,00 \$2,200,00 \$2,200,00 \$2,200,00 \$2,200		Lancaster Court - Southport Driv	ve to Dead	End						
2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$500.00 \$500.00 \$420.00 \$420.00 3 Compacted Aggregate No.53 TONS 128 \$662.5 \$8,480.00 \$50.00 \$6,400.00 \$420.00 \$420.00 \$407.00 \$50.00 \$50.00 \$50.00 \$51.00 \$60.912.00 4 Concrete Patch CYS 65 \$316.00 \$20.00 \$366.00 \$23,140.00 \$477.00 \$2.80 \$1,078.00 5 Geogrid SYD 385 \$2.50 \$3062.50 \$2.00 \$770.00 \$2.80 \$1,078.00 6 Joint and Crack Sealing LFT 2,000 \$5750.00 \$41.00 \$40.00 \$42.00 \$42.00 \$42.00 <td>Item No.</td> <td>Description</td> <td>Unit</td> <td>Quantity</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td>	Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
3 Compacted Aggregate No. 53 TONS 128 S66.25 S8,480.00 S50.00 S6,400.00 S64.00.00 S64.00 S64.00.00 S64.00 <	1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00
4 Concrete Patch CYS 65 \$316.00 \$20,540.00 \$356.00 \$23,140.00 \$467.00 \$30,355.00 5 Geogrid SYD 385 \$2.50 \$962.50 \$2.00 \$770.00 \$2.80 \$1,070.00 6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$47.00 \$2,000.00 7 Concrete Curb LFT 15 \$50.00 \$750.00 \$41.00 \$615.00 \$47.00 \$705.00 Subtrotat: \$33,98.10 SUBTOTAL: \$33,98.10 \$UBTOTAL: \$35,925.00 \$UBTOTAL: \$43,670.00 Item No. Description Unit Quantity Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$475.00 \$475.00 \$50.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$420.00 \$420.00 \$420.00 \$420.00 \$420.00 \$420.00 \$420.00 \$420.00	2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
5 Geogrid SYD 385 \$2.50 \$962.50 \$2.00 \$770.00 \$2.80 \$1.00 6 Joint and Crack Sealing LFT 2.000 \$0.70 \$1.400.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$1.00 \$2.000.00 \$3.000 \$2.000.00 \$3.000 \$2.000.00 \$2.30	3	Compacted Aggregate No. 53	TONS	128	\$66.25	\$8,480.00	\$50.00	\$6,400.00	\$54.00	\$6,912.00
6 Joint and Crack Sealing LFT 2,000 \$1,400.00 \$1,00 \$2,000.00 \$1,00 \$2,000.00 7 Concrete Curb LFT 15 \$50.00 \$1,400.00 \$41.00 \$61.00 \$47.00 \$705.00 SUBTOTAL: \$33,998.10 SUBTOTAL: \$35,925.00 SUBTOTAL: \$34,670.00 Item No. Description Unit Quantity Unit Price Extended Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,000.00 \$500.00 \$2,500.00 \$2,300.00 \$2,400.00	4	Concrete Patch	CYS	65	\$316.00	\$20,540.00	\$356.00	\$23,140.00	\$467.00	\$30,355.00
7 Concrete Curb LFT 15 \$\$0.00 \$UBTOTAL: \$\$75.00 \$33,998.10 \$\$41.00 \$UBTOTAL: \$\$615.00 \$35,925.00 \$\$47.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$UBTOTAL: \$\$45.00 \$2,500.00 \$\$42.00.00 \$2,200.00 \$\$2,300.00 \$2,300.00 \$\$2,300.00 \$420.00 \$\$42.00 \$\$42.00 2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$\$50.00 \$\$7,600.00 \$\$2,300.00 \$\$42.00 3 Compacted Aggregate No.53 TONS 152 \$\$66.25 \$10,070.00 \$\$1.00 \$2,000.00 \$\$1.00 \$2,000.00 4 Concrete Patch CYS 77 \$316.00 \$1,400.00 \$1,435.00 \$14.00 \$1.400.00 \$1,435.00 \$14.00 \$1,435.00 \$1.00 \$2,200.00 \$1.00	5	Geogrid	SYD	385	\$2.50	\$962.50	\$2.00	\$770.00	\$2.80	\$1,078.00
SUBTOTAL: \$33,99.10 SUBTOTAL: \$35,925.00 SUBTOTAL: \$43,670.00 St Thomas Court - Southport Drive to Dead End St Thomas Court - Southport Drive to Dead End St Thomas Court - Southport Drive to Dead End St Tomas Court - Southport Drive to Dead End St Tomas Court - Southport Drive to Dead End St Tomas Court - Southport Drive Southpo	6	Joint and Crack Sealing	LFT	2,000	\$0.70	\$1,400.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
St Thomas Court - Southport Drive to Dead End Unit Price Extended St390.60 \$2,500.00 \$2,300.00 \$2,000.00 \$2,000.00 \$2,000.00	7	Concrete Curb	LFT	15	\$50.00	\$750.00	\$41.00	\$615.00	\$47.00	\$705.00
Item No. Description Unit Quantity Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,390.60 \$2,500.00 \$2,500.00 \$2,300.00 \$2,200.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,600.00 \$2,500.00 \$4,000 \$1,00 \$2,000.00 \$4,000 \$1,00 \$2,000.00 \$4,000 \$1,00 \$2,000.00 \$4,000 \$1,00 \$2,100.00 </td <td></td> <td></td> <td></td> <td></td> <td>SUBTOTAL:</td> <td>\$33,998.10</td> <td>SUBTOTAL:</td> <td>\$35,925.00</td> <td>SUBTOTAL:</td> <td>\$43,670.00</td>					SUBTOTAL:	\$33,998.10	SUBTOTAL:	\$35,925.00	SUBTOTAL:	\$43,670.00
1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,390.60 \$2,500.00 \$2,500.00 \$2,300.00 \$2,300.00 2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$500.00 \$500.00 \$420.00 \$420.00 3 Compacted Aggregate No.53 TONS 152 \$66.25 \$10,070.00 \$50.00 \$7,600.00 \$420.00 \$35,420.00 4 Concrete Patch CYS 77 \$316.00 \$24,332.00 \$356.00 \$27,412.00 \$460.00 \$35,420.200.00 5 Geogrid SYD 459 \$2.50 \$1,147.50 \$2.00 \$918.00 \$2.800 \$1,285.20 6 Joint and Crack Sealing LFT 2,000 \$1,400.00 \$1.400.00 \$1,435.00 \$47.00 \$1,645.00 7 Concrete Curb LFT 2,000 \$1,750.00 \$41.00 \$1,435.00 \$1,400.00 1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,300.60 \$2,500.00		St Thomas Court - Southport Driv	ve to Dead	End						
2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$500.00 \$500.00 \$420.00 \$420.00 3 Compacted Aggregate No. 53 TONS 152 \$66.25 \$10,070.00 \$50.00 \$7,600.00 \$40.00 \$35,400 \$8,208.00 4 Concrete Patch CYS 77 \$316.00 \$24,332.00 \$356.00 \$27,412.00 \$460.00 \$35,420.00 5 Geogrid SYD 459 \$2.50 \$1,147.50 \$2.00 \$918.00 \$2.80.00 \$1,285.20 6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$1,645.00 7 Concrete Curb LFT 2,000 \$1,750.00 \$UBTOTAL: \$42,650.00 \$UBTOTAL: \$1,435.00 \$1,770.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,770.00 \$1,435.00 \$1,770.00 \$1,770.00 \$1,435.00 \$1,770.00 \$1,435.00 \$1,770.00 \$1,435.00 \$1,770.00 <td>Item No.</td> <td>Description</td> <td>Unit</td> <td>Quantity</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td> <td>Unit Price</td> <td>Extended</td>	Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
3 Compacted Aggregate No. 53 TONS 152 \$66.25 \$10,070.00 \$50.00 \$7,600.00 \$54.00 \$8,208.00 4 Concrete Patch CYS 77 \$316.00 \$24,332.00 \$356.00 \$27,412.00 \$460.00 \$35,420.00 5 Geogrid SYD 459 \$2.50 \$1,147.50 \$2.00 \$918.00 \$2.80 \$1,285.20 6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$1,00 \$2,000.00 \$1,00 \$2,000.00 \$1,00 \$2,000.00 \$1,645.00 \$2,000.00 \$1,645.00 \$1,750.00 \$41.00 \$1,435.00 \$UBTOTAL: \$42,365.00 \$UBTOTAL: \$42,000 \$1,60.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00	1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00
4 Concrete Patch CYS 77 \$316.00 \$24,332.00 \$356.00 \$27,412.00 \$460.00 \$35,420.00 5 Geogrid SYD 459 \$2.50 \$1,147.50 \$2.00 \$918.00 \$2.80 \$1,285.20 6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$1.00 \$2,000.00 \$1.645.00 7 Concrete Curb LFT 35 \$50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 7 Concrete Curb LFT 35 \$50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 SUBTOTAL: \$40,565.10 SUBTOTAL: \$42,365.00 SUBTOTAL: \$51,278.20 Item No. Description Unit Quantity Unit Price Extended Unit Price Extended 1 \$1,800.00 \$1,800.00 \$1,800.00 \$42,000 \$42,000 \$42,000 \$42,000 \$42,000 \$42,000 \$42,0	2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
5 Geogrid SYD 459 \$2.50 \$1,147.50 \$2.00 \$918.00 \$2.80 \$1,285.20 6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$1.00 \$2,000.00 7 Concrete Curb LFT 355 \$50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 7 Concrete Curb LFT 355 S50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 8 UPTOTAL: \$40,565.10 SUBTOTAL: \$42,365.00 SUBTOTAL: \$51,278.20 1 Description Unit Quantity Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$475.00 \$475.00 \$500.00 \$2,500.00 \$420.00 \$420.00 2 Maintenance of Traffic LSUM 1 \$475.00 \$50.00 \$50.00 \$400.00 \$420.00 \$42.00 \$42.00	3	Compacted Aggregate No. 53	TONS	152	\$66.25	\$10,070.00	\$50.00	\$7,600.00	\$54.00	\$8,208.00
6 Joint and Crack Sealing LFT 2,000 \$0.70 \$1,400.00 \$1.00 \$2,000.00 \$1.00 \$2,000.00 7 Concrete Curb LFT 35 \$50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 7 Concrete Curb LFT 35 SUBTOTAL: \$40,565.10 SUBTOTAL: \$42,365.00 SUBTOTAL: \$42,000 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.0	4	Concrete Patch	CYS	77	\$316.00	\$24,332.00	\$356.00	\$27,412.00	\$460.00	\$35,420.00
7 Concrete Curb LFT 35 \$50.00 \$1,750.00 \$41.00 \$1,435.00 \$47.00 \$1,645.00 8 SUBTOTAL: \$40,565.10 SUBTOTAL: \$42,365.00 SUBTOTAL: \$41.00 \$1,435.00 \$47.00 \$1,645.00 Item No. Description Unit Quantity Unit Price Extended Unit Price Extended Unit Price Extended \$1,800.00 \$1,	5	Geogrid	SYD	459	\$2.50	\$1,147.50	\$2.00	\$918.00	\$2.80	\$1,285.20
SUBTOTAL: \$40,565.10 SUBTOTAL: \$42,365.00 SUBTOTAL: \$42,365.00 Item No. Description Unit Quantity Unit Price Extended Unit Price Extended Unit Price Extended Subtrotal: \$42,365.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$42.00 \$40.00 \$40.00 \$40.0	6	Joint and Crack Sealing	LFT	2,000	\$0.70	\$1,400.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
Christopher Drive - Southport Drive to Dead End Unit Quantity Unit Price Extended Standow	7	Concrete Curb	LFT	35	\$50.00	\$1,750.00	\$41.00	\$1,435.00	\$47.00	\$1,645.00
Item No. Description Unit Quantity Unit Price Extended Unit Price Extended Unit Price Extended 1 Mobilization and Demobilization LSUM 1 \$1,390.60 \$1,390.60 \$2,500.00 \$2,500.00 \$1,800.00 \$1,800.00 2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$500.00 \$2,500.00 \$420.00 \$420.00 3 Compacted Aggregate No. 53 TONS 80 \$66.25 \$5,300.00 \$500.00 \$4472.00 \$420.00 4 Concrete Patch CYS 41 \$316.00 \$12,956.00 \$356.00 \$14,596.00 \$472.00 \$19,352.00 5 Geogrid SYD 239 \$2.50 \$597.50 \$2.00 \$4478.00 \$2.80 \$669.20 6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,690.00 \$47.00 \$4,230.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00					SUBTOTAL:	\$40,565.10	SUBTOTAL:	\$42,365.00	SUBTOTAL:	\$51,278.20
1Mobilization and DemobilizationLSUM1\$1,390.60\$1,390.60\$2,500.00\$2,500.00\$1,800.00\$1,800.002Maintenance of TrafficLSUM1\$475.00\$475.00\$500.00\$500.00\$420.00\$420.003Compacted Aggregate No. 53TONS80\$66.25\$5,300.00\$50.00\$4,000.00\$54.00\$4,320.004Concrete PatchCYS41\$316.00\$12,956.00\$356.00\$14,596.00\$472.00\$19,352.005GeogridSYD239\$2.50\$597.50\$2.00\$478.00\$2.80\$669.206Joint and Crack SealingLFT3,300\$0.70\$2,310.00\$1.00\$3,300.00\$1.00\$3,300.007Concrete CurbLFT90\$50.00\$4,500.00\$41.00\$3,690.00\$47.00\$4,230.008Popup ValvesEA1\$225.00\$225.00\$175.00\$175.00\$160.00\$160.00		Christopher Drive - Southport Dri	ve to Dead	End						
2 Maintenance of Traffic LSUM 1 \$475.00 \$475.00 \$500.00 \$500.00 \$420.00 \$420.00 3 Compacted Aggregate No. 53 TONS 80 \$66.25 \$5,300.00 \$50.00 \$4,000.00 \$54.00 \$4,320.00 4 Concrete Patch CYS 41 \$316.00 \$12,956.00 \$356.00 \$477.00 \$472.00 \$19,352.00 5 Geogrid SYD 239 \$2.50 \$597.50 \$2.00 \$478.00 \$2.80 \$669.20 6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 \$47.20 \$423.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.00 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$225.00 \$175.00 \$160.00 \$160.00	Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
3 Compacted Aggregate No. 53 TONS 80 \$66.25 \$5,300.00 \$50.00 \$4,000.00 \$54.00 \$4,320.00 4 Concrete Patch CYS 41 \$316.00 \$12,956.00 \$356.00 \$14,596.00 \$472.00 \$19,352.00 5 Geogrid SYD 239 \$2.50 \$597.50 \$2.00 \$478.00 \$2.80 \$669.20 6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.200 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$21.00 \$175.00 \$175.00 \$160.00 \$160.00	1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00
4 Concrete Patch CYS 41 \$316.00 \$12,956.00 \$356.00 \$14,596.00 \$472.00 \$19,352.00 5 Geogrid SYD 239 \$2.50 \$597.50 \$2.00 \$478.00 \$2.80 \$669.20 6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.00 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$175.00 \$175.00 \$160.00 \$160.00	2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
5 Geogrid SYD 239 \$2.50 \$597.50 \$2.00 \$478.00 \$2.80 \$669.20 6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.00 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$25.00 \$175.00 \$160.00 \$160.00	3	Compacted Aggregate No. 53	TONS	80	\$66.25	\$5,300.00	\$50.00	\$4,000.00	\$54.00	\$4,320.00
6 Joint and Crack Sealing LFT 3,300 \$0.70 \$2,310.00 \$1.00 \$3,300.00 \$1.00 \$3,300.00 7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.00 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$175.00 \$160.00 \$160.00	4	Concrete Patch	CYS	41	\$316.00	\$12,956.00	\$356.00	\$14,596.00	\$472.00	\$19,352.00
7 Concrete Curb LFT 90 \$50.00 \$4,500.00 \$41.00 \$3,690.00 \$47.00 \$4,230.00 8 Popup Valves EA 1 \$225.00 \$225.00 \$175.00 \$160.00 \$160.00	5	Geogrid	SYD	239	\$2.50	\$597.50	\$2.00	\$478.00	\$2.80	\$669.20
8 Popup Valves EA 1 \$225.00 \$225.00 \$175.00 \$160.00 \$160.00	6	Joint and Crack Sealing	LFT	3,300	\$0.70	\$2,310.00	\$1.00	\$3,300.00	\$1.00	\$3,300.00
	7	Concrete Curb	LFT	90	\$50.00	\$4,500.00	\$41.00	\$3,690.00	\$47.00	\$4,230.00
SUBTOTAL: \$27,754.10 SUBTOTAL: \$29,239.00 SUBTOTAL: \$34,251.20	8	Popup Valves	EA	1	\$225.00	\$225.00	\$175.00	\$175.00	\$160.00	\$160.00
					SUBTOTAL:	\$27,754.10	SUBTOTAL:	\$29,239.00	SUBTOTAL:	\$34,251.20

VC24-08-04 "Concrete Street Repairs"

	Oak Park Drive								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	80	\$66.25	\$5,300.00	\$50.00	\$4,000.00	\$54.00	\$4,320.00
4	Concrete Patch	CYS	41	\$316.00	\$12,956.00	\$356.00	\$14,596.00	\$470.00	\$19,270.00
5	Geogrid	SYD	223	\$2.50	\$557.50	\$2.00	\$446.00	\$2.80	\$624.40
6	Joint and Crack Sealing	LFT	3,924	\$0.70	\$2,746.80	\$1.00	\$3,924.00	\$1.00	\$3,924.00
7	Concrete Curb	LFT	100	\$50.00	\$5,000.00	\$41.00	\$4,100.00	\$47.00	\$4,700.00
8	Popup Valves	EACH	5	\$225.00	\$1,125.00	\$175.00	\$875.00	\$160.00	\$800.00
				SUBTOTAL:	\$29,550.90	SUBTOTAL:	\$30,941.00	SUBTOTAL:	\$35,958.40
	Acorn Court								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	105	\$66.25	\$6,956.25	\$50.00	\$5,250.00	\$54.00	\$5,670.00
4	Concrete Patch	CYS	60	\$316.00	\$18,960.00	\$356.00	\$21,360.00	\$460.00	\$27,600.00
5	Geogrid	SYD	318	\$2.50	\$795.00	\$2.00	\$636.00	\$2.80	\$890.40
6	Joint and Crack Sealing	LFT	3,776	\$0.70	\$2,643.20	\$1.00	\$3,776.00	\$1.00	\$3,776.00
7	Concrete Curb	LFT	136	\$50.00	\$6,800.00	\$41.00	\$5,576.00	\$47.00	\$6,392.00
8	Popup Valves	EACH	8	\$225.00	\$1,800.00	\$175.00	\$1,400.00	\$160.00	\$1,280.00
				SUBTOTAL:	\$39,820.05	SUBTOTAL:	\$40,998.00	SUBTOTAL:	\$47,828.40
	Cypress Court								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	126	\$66.25	\$8,347.50	\$50.00	\$6,300.00	\$54.00	\$6,804.00
4	Concrete Patch	CYS	65	\$316.00	\$20,540.00	\$356.00	\$23,140.00	\$470.00	\$30,550.00
5	Geogrid	SYD	350	\$2.50	\$875.00	\$2.00	\$700.00	\$2.80	\$980.00
6	Joint and Crack Sealing	LFT	3,776	\$0.70	\$2,643.20	\$1.00	\$3,776.00	\$1.00	\$3,776.00
7	Concrete Curb	LFT	65	\$50.00	\$3,250.00	\$41.00	\$2,665.00	\$47.00	\$3,055.00
				SUBTOTAL:	\$37,521.30	SUBTOTAL:	\$39,581.00	SUBTOTAL:	\$48,085.00
	Elmridge Drive								
ltem No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$2,000.00	\$2,000.00	\$1,300.00	\$1,300.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$700.00	\$700.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	20	\$66.25	\$1,325.00	\$52.00	\$1,040.00	\$54.00	\$1,080.00
4	Concrete Patch	CYS	7	\$316.00	\$2,212.00	\$390.00	\$2,730.00	\$550.00	\$3,850.00
5	Geogrid	SYD	54	\$2.50	\$135.00	\$2.00	\$108.00	\$2.80	\$151.20
6	Joint and Crack Sealing	LFT	115	\$0.70	\$80.50	\$1.00	\$115.00	\$1.00	\$115.00
7	Concrete Curb	LFT	36	\$50.00	\$1,800.00	\$38.00	\$1,368.00	\$47.00	\$1,692.00
8	Sidewalk Replacement	LFT	30	\$55.00	\$1,650.00	\$35.00	\$1,050.00	\$80.00	\$2,400.00
0	•								

VC24-08-04 "Concrete Street Repairs"

			1024	08-04 Concret	e oncernepu	1			
	Plaza Drive Cul-De-Sac (at 1950 Plaza Drive)								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,390.60	\$1,390.60	\$1,800.00	\$1,800.00	\$1,200.00	\$1,200.00
2	Maintenance of Traffic	LSUM	1	\$475.00	\$475.00	\$500.00	\$500.00	\$420.00	\$420.00
3	Compacted Aggregate No. 53	TONS	5	\$66.25	\$331.25	\$52.00	\$260.00	\$54.00	\$270.00
4	Concrete Patch	CYS	3	\$316.00	\$948.00	\$400.00	\$1,200.00	\$580.00	\$1,740.00
5	Geogrid	SYD	165	\$2.50	\$412.50	\$2.00	\$330.00	\$2.80	\$462.00
6	Concrete Curb	LFT	27	\$50.00	\$1,350.00	\$38.00	\$1,026.00	\$47.00	\$1,269.00
				SUBTOTAL:	\$4,907.35	SUBTOTAL:	\$5,116.00	SUBTOTAL:	\$5,361.00
Mooring	Rd. Sidewalk Replacement (at 29	40 Mooring	Rd).						
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$375.20	\$375.20	\$850.00	\$850.00	\$580.00	\$580.00
2	Sidewalk Replacement	LFT	24	\$55.00	\$1,320.00	\$41.00	\$984.00	\$130.00	\$3,120.00
				SUBTOTAL:	\$1,695.20	SUBTOTAL:	\$1,834.00	SUBTOTAL:	\$3,700.00
	CONTRACT TO	OTAL:			\$804,813.10		\$829,736.00		\$998,893.40